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Review for Accelerated Grade 6: Summative Assessment #10
NO CALCULATORS
7.NS.1a Describe situations in which opposite quantities combine to make 0.
1.  A penguin is 13 meters below sea level.  It dives an additional 3 meters below sea level.  How far does the penguin have to travel to get back to the surface?  Explain your answer.

2.  In a game of Jeopardy, a contestant loses $1,600 on one question and another $400 on another question.  How much money does the contestant need to gain in order to break even (get back to $0)?  Explain your answer.
7.NS.1b,C,D Add and Subtract Rational Numbers
3.  Evaluate -7 + 3.  Use the number line to show your work and circle your answer. 
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4.  Evaluate – 8 – (– 1).  Use the number line to show your work and circle your answer.  
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5.
Which expressions are equivalent to 
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?  Choose ALL correct answers.
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6.  Nicole has 
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 cups of frosting, then uses 
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 cup to frost a cake.  How many cups of frosting are left?  Show your work.
7.  Perform the indicated operation.  Show all work.

a.

[image: image12.wmf]÷

ø

ö

ç

è

æ

-

+

-

3

1

7

5





b.
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c.
9.31 – (-8.7)



d.
-3.2 + 4.21 + (-10.1) 
7.NS.2a,b,c Multiply and Divide Rational Numbers
8.  Which expressions have products that are negative?  Select ALL that apply.

☐  (-1)(-½)(-8.9)(-8)
☐  (-4)( ⅔)(-2)

☐  (-10)(22.3)(7)(-¾)
☐  (2)(-5)
☐  (-0.4)(½)(-1)(18)
☐  (15.2)(-4 ⅔)(-6)(-2⅙)
☐  (-¼)(8)(-7.2) 
☐  (-2)(-5.43)
9.  Which expressions are equivalent to 
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10.  Perform the indicated operation.  Show all work.

a.  
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  =  _____________


b.  36.4 ( 5.2   =  _____________
11.
Which situation below models the following equation:      -6(5) = -30
a.  At a football game, Sean lost 5 yards on one play and then gained six yards on the next play.  How many total yards did he gain or lose over those two plays?
b.  Dan wants to see a show that cost $5.00 with six of his friends.  How many times did he see it?

c.  The temperature outside rose at a rate of six degrees per hour in 5 hours.  What was the temperature after those five hours? 
d.  John dove at a rate of six meters per second.  If you consider the top of the water as zero, what is his position after 5 seconds?
12.  A fish descends to a depth of -28 meters in 35 seconds. Find the average rate of change in the fish’s depth. Show how you obtained your answer.

13.  Charlie had 
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 pounds of candy and splits it equally among 4 people.  What is the amount of candy (in pounds) each person will receive?  Show your work.
14.  Lainie runs a lemonade stand.  It costs her $0.45 to make each cup of lemonade and she decides to sell each cup for $0.75.  Her friends come by and she gives away 8 cups of lemonade to them for free.
Part A: Calculate how much Lainie lost in profits last week, based on what she gave away.
Part B: Calculate whether Lainie made a profit last week, based on what she gave away and given that she sold 32 cups of lemonade.

7.NS.2d Convert a rational number to a decimal using long division; know that the decimal form of a rational number terminates in 0s or eventually repeats.

15.  Write each of the following fractions as decimals.  Show your work.

a.  
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b.  
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c. 
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16.  Select ALL of the fractions that are equivalent to 0.3.


☐   
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17.  Anthony delivers eight packages that are each the same size and weigh a total of 
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 pounds.  How much does each package weigh?  Show your work.

7.NS.3 Solve real-world problems involving the four operations with rational numbers.
18.  An employee earns $7.50 per hour and makes 1.5 times their hourly wage for every hour they work over 40 hours in a week.  If an employee works 48 hours in a week, how much did they earn for that week?  Explain your answer.
19.   How many square yards of topsoil are needed to cover a backyard with a length of 
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 meters and a width of 
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 meters?  Justify your answer. 

20.  Jackson walks to school 
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miles away from home.  After school, he walks back towards home and stops after 
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 mile to buy candy at the store.  How far was he from home at that point?  Explain your answer.
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